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Supplementary Figure S4. Behavioral tests of Hs6st2 KO mice. (A) Results of the habituation trial of the Social
interaction test. Value on the line, P-value of two-tailed t-test. ns, P-value > 0.05. (B) Total are entry and alternation in
Y-maze test. Values on the line, P-values of one-tailed t-test. (C) Results of the Novel object recognition test with two
identical objects. Value on the line, P-value of one-tailed t-test. ns, P value > 0.05. (D) Total distance of the Novel
object recognition test with a novel object. Value on the line, P-value of one-tailed t-test.



